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Paper Id:  199223                                       Roll No.           
 

B. TECH. 
(SEM IV) THEORY EXAMINATION 2018-19 

INDUSTRIAL SOCIOLOGY 
Time: 3 Hours        Total Marks: 100 
Note:  Attempt all Sections. If require any missing data; then choose suitably. 
 

SECTION A 
1.         Attempt all questions in brief                                                                  2x10= 20  

a. Define Putting – Out system. 
b. What do you mean by bureaucracy?  
c. What do you mean by Industrial Dispute? 
d. Explain Sympathy Strike.  
e. Explain Collective Bargaining. 
f. What is M R T P act? 
g. What are Works Committees? 
h. What is Grievance? 
i. What is Class Struggle? 
j. Difference between Sociology and Anthropology. 

 

 

                                                                          SECTION B 
2. Attempt any three of the following:      10 x 3 = 30 

a. Define industrialization. What are the causes of industrialization in India? 
b. Discuss the way to promote Industrial Peace. 
c. Discuss the characteristics of Trade Union. 
d. How industrial disputes can be tackled in present environment?  
e. Write a short note on Industrial Dispute Act 1947. 

 

  
 

SECTION C 
3. Attempt any one part of the following:     10 x 1 = 10 

(a) What is the significance of Industrial Sociology?    
(b) Differentiate between Strikes and Lock-Out?  

4. Attempt any one part of the following:     10 x 1 = 10 
(a). Discuss the factors affecting human relations in organizations.                           
(b). Define Strike. What are various types of Strikes?  

5. Attempt any one part of the following:     10 x 1 = 10 
(a)  Discuss the importance of code of discipline on industrial productivity.  
(b)  Write down the effect of industrialization on caste and class system. 

6. Attempt any one part of the following:     10 x 1 = 10 
(a)  Discuss the Conciliation. Arbitration and Adjudication process in industrial 
relation.  

 

(b) Explain the role of states to promote and develop the small scale industry.  
7. Attempt any one part of the following:                                      10 x 1 = 10 

(a)  What is the ages of revolution and what changes French Revolution brought in th
(b) Give the characteristics of guild system. Also explain reasons for decline the 
guild system. 
 

 
 


